Acute Angles in a Right Triangle

sin 4 =cos B : In a right triangle, the sine of one acute angle is equal to the cosine of
the other acute angle

A+ B=90: The two acute angles in a right triangle are complementary

1. In scalene triangle ABC shown in the diagram below, msC = 90°,

Which equation is always true? / A
1) sind=sinB

2) cosA=cosB
3) cosd=sinC
@ sind = cos B

c VB
2. Right triangle TMR is a scalene triangle with the right angle at M. Which equation is
true?

1) _sindf=rtosr— @ sin?= cosR
2) sinR=cesR— SinT = cosAd
™M
3. Right triangle ACT has mZ4 = 90°. Which expression is always equivalent to cos 77
1) cose ' 3) tan7T
Y sinC 4) sinT
j’mA—:[QSB
4. In right triangle ABC, msC'= 90°. If cos B= —=, which
i 13
1), tan4 AV sina
2) tanB 4) sinB

5. In right triangle ABC, m£C = 90° and AC'= BC. Which trigonometric ratiois
equivalent to sin5?

cosd QA 3) tan4
2) cosB 4) tanB

6.In nght triangle ABC with the right angle at C, sin4 = 2x+0.1 and cos B= 4x—0.7.
Det ¢ and state the value of x. Explain your answer.

SA=co B 0420




7 If §ll|\ - cosztlx - 12)", what is the value of x to
the nearest remih?
(1)7.6 (2)12.0 @14.0 (4)26.9
=0 3xQ4hi0=90 4 h=qy
T4E=40 / 7 =

% +%
S.i@ G , X=14
8. If sin@x + 7)f = cos(@x— 7)°, what is the value of x?
D 7 MB=46

15 =
éﬁ)le 7 t—‘hc-?:‘-‘V x=ls”
4) 30 bx=40
©
i = .
9. In aright triangle, si;q@° = co;(3x)>. What is the value of x?

1) 10 s 3) 20
2) 15 j}:‘g f,? - @ 25
X TOX = -
2.5 FO =0 '%5 "’Sa‘g

40 07y SifA & ca
10. In a right triangle, the acute angles have the relationship sin(2x +4) = cog What is
the value of x? As@=90

e xrp=qo 71X
2) 21 -9
3) 24 L
4) 25 =40
5=
11. Which expression is always equivalex‘lst to in;zo wblgn 0° < x < 90°? +@
1) cos(90°~z) /= SAHI0—x)=
2) cos(45°-x) SX = @ (90—x) ) QO
3) cos(2x)
4) cosx .
Sid=enp  AHB=I0
12. Which of the following is equivalent to sind0? ~SiHp=g& 93793
1) sin50 @ cos50 3) cos40 @5%) tan50 B=s5
Hhese mosh auld 5 Q> o =
3
13. Which of the following is equivalent to 577 —-s»
1) sin57 &)sinZ3 3)cos#3 BR 4)cosl23
0
14. Which expression is equal to sin 3097
1) tan3ge (500 P3Y cos60°
2) sin60° 4) cos30°

68 65~



15. Given: Right triangle ABC with right angle at C. If sin4 increases, does cos B increase or
decrease? Explain why.

Nlwses bocaose ShA =S8

16. If 31@00@) determine the value of x.

g,Q 0 /)ﬁ’%’/

Qxﬂ(’rlg =00 .
- =S5
E AN =51

17. If cos(x + 8) = sin(2x + 7), determine the value of x.

/P, =D - Zx‘ﬁiv
\(},g%gxﬁ 0

18. In right triangle DAN, Which statement must always be true?
1) cosD=cosiV ‘ 3)—sind-=—cosV

é/_@osD = sinkV 4) cosd=taniV

19. In right triangle RST shown below, which of the following must be true?
I: sinR = cosk R

II: cosT =sinR |~ ]

II: sin7 =cosR |~ ___

IV: tanR = tan)%

S T

1)Iand IV 3) I, 11, and III
@M and 111 4) 11 only



